
HJORTEMOSE

2300 mm

3000 mm3000 mm

1/27

3725139
88184001

28.08.2024-Rev.1



2/27

GB IMPORTANT, RETAIN FOR FUTURE REFERENCE: 
READ CAREFULLY 

DK VIGTIGT, GEMMES TIL SENERE BRUG: LÆS 
OMHYGGELIGT 

DE WICHTIG, FÜR SPÄTERE BEZUGNAHME 
AUFBEWAHREN: SORGFÄLTIG LESEN 

NO VIKTIG. MÅ OPPBEVARES FOR SENERE BRUK: 
MÅ LESES NØYE 

SE VIKTIGT – SPARAS FÖR FRAMTIDA BRUK: LÄS 
NOGA 

FI TÄRKEÄÄ, SÄILYTÄ MYÖHEMPÄÄ TARVETTA 
VARTEN: LUE HUOLELLISESTI 

PL WAŻNE, ZACHOWAĆ NA PRZYSZŁOŚĆ: 
PRZECZYTAĆ UWAŻNIE 

CZ DŮLEŽITÉ, USCHOVEJTE PRO POZDĚJŠÍ 
POUŽITÍ: ČTĚTE POZORNĚ 

HU FONTOS, ŐRIZZE MEG A KÉSŐBBIEKRE: 
OLVASSA EL FIGYELMESEN 

NL BELANGRIJK, BEWAREN VOOR TOEKOMSTIG 
GEBRUIK: ZORGVULDIG LEZEN 

SK DÔLEŽITÉ, INFORMÁCIE SI ODLOŽTE NA 
POUŽITIE V BUDÚCNOSTI: ČÍTAJTE POZORNE 

FR IMPORTANT, À CONSERVER POUR TOUTE 
CONSULTATION ULTÉRIEURE: LIRE 
ATTENTIVEMENT 

SI POMEMBNO, SHRANITE ZA POZNEJŠO 
UPORABO: POZORNO PREBERITE 

HR VAŽNO, SPREMITE ZA BUDUĆU UPOTREBU: 
POZORNO PROČITAJTE 



3/27

IT IMPORTANTE, CONSERVARE PER 
CONSULTAZIONI FUTURE: LEGGERE 
ATTENTAMENTE 

ES IMPORTANTE: CONSERVAR PARA FUTURAS 
CONSULTAS Y LEER DETENIDAMENTE 

BA VAŽNO, SAČUVAJTE ZA UBUDUĆE: PAŽLJIVO 
PROČITAJTE 

RS VAŽNO, SAČUVAJTE ZA BUDUĆU UPOTREBU:  
PAŽLJIVO PROČITAJTE 

UA УВАГА! ЗБЕРЕЖІТЬ ЦЮ ІНСТРУКЦІЮ ДЛЯ 
ВИКОРИСТАННЯ В МАЙБУТНЬОМУ. УВАЖНО 
ОЗНАЙОМТЕСЯ З ІНСТРУКЦІЄЮ. 

RO IMPORTANT, PĂSTRAȚI PENTRU CONSULTARE 
ULTERIOARĂ: CITIȚI CU ATENȚIE 

BG ВАЖНО, ЗАПАЗЕТЕ ЗА БЪДЕЩА СПРАВКА: 
ПРОЧЕТЕТЕ ВНИМАТЕЛНО 

GR ΣΗΜΑΝΤΙΚΟ, ΦΥΛΑΞΤΕ�ΓΙΑ ΜΕΛΛΟΝΤΙΚΗ 
ΑΝΑΦΟΡΑ: ΔΙΑΒΑΣΤΕ ΠΡΟΣΕΚΤΙΚΑ 

PT IMPORTANTE, CONSERVE PARA REFERÊNCIA 
FUTURA: LEIA COM ATENÇÃO 

RU ВАЖНАЯ ИНФОРМАЦИЯ, СОХРАНИТЕ ДЛЯ 
ДАЛЬНЕЙШЕГО ИСПОЛЬЗОВАНИЯ. 
ПРОЧТИТЕ ВНИМАТЕЛЬНО. 

TR ÖNEMLİ, GELECEKTE BAŞVURMAK İÇİN 
SAKLAYIN: DİKKATLE OKUYUN 

CN
AR



4/27



5/27



6/27



7/27



8/27



9/27



10/27



11/27



12/27



13/27



14/27



15/27

A x 28 B x 14 C x 12

M6x15 mm M6x12 mmM6x25 mm

E x 6

49x32x16 mm

H x 8

Ø20x10 mm

J x 1

T25

Y x 1

T25

Z x 1

T25

F x 12

42x18x16 mm

D x 42

Ø6/Ø12 mm

G x 46

Ø17x5 mm

tighten loose

Z Y



16/27

8

8

8

8

1

3

4

6
6

6
6

6
6

7

7

9

5

5

2

1

1

1

10

11 x4 12 x4



17/27

Box 1/2:

Box 2/2:

2257x60x60 mm

1 x4

Ø19x2928 mm

6 x6

2953x28x14 mm

125x125x34 mm 2910x325 mm

7 x2

8 x4 9

2824x65x70 mm

2 x2

2943x27,5x50 mm

5 x2

2828x55x105 mm

3

3250x2910 mm

10

2828x55x105 mm

4

Ø7,5x420 mm Ø2x480 mm

11 x4 12 x4



18/27

Ø6/Ø12 mm

1

2

D x 8A x 8

M6x15 mm

8

8

8

8

3

4

J x 1 Y x 1 Z x 1

T25 T25 T25

1

1

1

1

1

8

Ø6/Ø12 mm

D x 8A x 8

M6x15 mm

J x 1 Y x 1 Z x 1

T25 T25 T25

A

M6x15 mm

B

M6x25 mm

A

M6x15 mm

B

M6x25 mm

A D AD

A D



19/27

F x 12

42x18x16 mm

Ø6/Ø12 mm

D x 4B x 4

M6x25 mm

J x 1

T25

A

M6x15 mm

B

M6x25 mm

BD

3

4

5

J



5

6

20/27

5

A

M6x15 mm

B

M6x25 mm

B D

H

H x 8

Ø20x10 mm

Ø6/Ø12 mm

D x 4B x 4

M6x25 mm

J x 1

T25



7

8

21/27

A

M6x15 mm

B

M6x25 mm

E x 6

49x32x16 mm

2

E

Ø6/Ø12 mm

D x 8A x 8

M6x15 mm

J x 1 Y x 1 Z x 1

T25 T25 T25

AD



9

10

22/27

A
D

A

M6x15 mm

B

M6x25 mm

2

6

6

10

E

6

6

101

2

3

Ø6/Ø12 mm

D x 4A x 4

M6x15 mm

J x 1 Y x 1 Z x 1

T25 T25 T25



11

12

23/27

x4

C

6

6
10

1

6

10

E
6

2

3 4

C

10

6
6

6
6

C x 2

M6x12 mm

J x 1 Y x 1 Z x 1

T25 T25 T25

C x 8

M6x15 mm

J x 1 Y x 1 Z x 1

T25 T25 T25



13

14

24/27

6

1

6

10

E
6

2

3

C

6

C x 2

M6x15 mm

J x 1 Y x 1 Z x 1

T25 T25 T25



15

16

25/27

7

9

9

B
D

Ø6/Ø12 mm

D x 6B x 6

M6x25 mm

J x 1 Y x 1 Z x 1

T25 T25 T25



18

17

26/27

Ø17x5 mm

G x 46

G

4x11

12



!

19

27/27


